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Найдите ошибку:
 Ответ обоснуйте.

4706;    475,839;    2356,948;  
11012;      1375,526;  

5412, 0113;      16,5055;  1875,
А11;      13А9,6К16 



Перевести из римской 
системы счисления:

LXIV
CCLXXXVII

CDLIV
DCCLVII
CCMXLII



Арифметические 
операции в 

позиционных системах 
счисления.



Сложение.

0+0 = 0
0 +1 = 1
1 + 0 = 1
1 + 1 = 10



 1102

     112

10012Выполнить сложение:

1)  11001112 + 101112 =

2)  101112 + 111002 =

3)  1001112 + 10012 =



Вычитание

0 – 0 = 0
0 – 1 = 11
1 – 0 = 1
1 – 1 = 0



    1102
     112

     112

Выполнить вычитание:

1)10110112 - 1012 =

2)11011012 - 1002 =

3)101112 - 1102 =



Умножение

0 × 0 = 0
0 × 1 = 0
1 × 0 = 0
1 × 1 = 1



   1102

       112

     110
  110
100102Выполнить умножение:

1) 10112 × 1012 =

2) 11012 × 112 = 

3) 101112 × 1102 =



Деление
    1102        112

      11         102
       0

Выполнить деление:

1)  111102 : 1012 =

2)10011012 : 1112 =

3)111102 : 1102 =



11001112 + 101112 =11111102

 101112 + 111002 =1100112

 1001112 + 10012 =1100002

Сложение:



10110112 - 1012 =10101102

11011012 - 1002 =11010012

101112 - 1102 =100012

Вычитание:



Умножение:
10112 × 1012 =1101112

11012 × 112 = 1001112

101112 × 1102 =100010102



Деление:
1) 111102 : 1012 =1102

2) 10011012 : 1112 =10112

3) 111102 : 1102 =1012



Вычислить самостоятельно: 
56128+ 4578=

               5618- 678=  

98EF16 +A45E16  =
             

F45A16- 29816=
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